Equal 9 step grey scaling betweeb* gsn=—44.5 andL* g,\w=44.5, Yoref=108.0, normalisation white

L*gan=—44.4,L*0a=0.0,L*0an=44.5,Ypan=3.0, Yoa=18.0, Yoan~108.0,Coay=Yoaw: Yoan=36.0
L*an=28.0,L* =311, L*an=44.5, Y;an=55.5, Y;au=63.0, %taw=108.0,Cray=Yiaw: Yian=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 PL* min] / [AL* max], L* TusynD1 = 40 / log(5) [ log (Y/Yy) ] with Y,=18

9*5: 100, g’y= 100 9%=10, g*5=7 g*5= 6_9, g'y=51
L* TugyNnD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1223 *a Al*la
50*09 445 10 1080 10: 445 1.0 1080 1.0 445
3 4.9 2.4
8 334 0875 69.0 0.629 39.6 0.701 885  0.853 421
: 3.8 2.3
25T (7 223 075 441 0391 358 0.473 760 0715 39.8
: 2.7 2.1
6 11.1 0.625 282 024 331 0.307 681  0.589 37.7
1 1.9 1.9
o+@s5 00 05 180 0143 311 0.19 630 0476 35.8
3 1.3 1.7
@+ -110 0375 115 0081 298 0.111 59.7  0.373 34.2
: 0.9 1.6
_25*.3 -222 025 7.3 0041 289 0.058 57.7  0.279 326
: 0.6 1.6
@2 333 0125 47 0016 284 0.023 563  0.184 31.0
: 0.4 3.0
‘1 -44.4 00 30 00 : 280 00 555 0.0 28.0
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